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CC Algebra 

Solving Quadratic Equations Review
1. What values of a, b, c should be substituted in the quadratic formula to solve 4x2 + 1 = 2x?
a. a = 4, b = 4, c = -2 


c.  a = 4, b = 2, c = 1
b. a = 2, b = 4, c = -4 


d.  a = 4, b = -2, c = 1 

2.   What number should be added to both sides to complete the square in the equation r2 – 2r = 12? 

a. 1




c.  4
b. 2




d.  144
3. What are the zeros of the function f(x) = x2 – 5x – 24?

a.   8 and –3



c.     8 and 3

b. –8 and 3



d.  –8 and –3   
4. Given the equation 4x2 – 16 = 0, what are the roots?

a. 16 and –16


c.  2 and –2

b. 4 and–16  



d.  4 and –4

5. Simplify: [image: image20.png]12
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c. -
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6. Given the equation 3x2 – 24x + 15, which best describes the roots of the quadratic?
a. Real, rational, equal

c.  real, rational, unequal
b. No real roots  


d.  real, irrational, unequal

7. Given the equation 2x2 + 4x + 2, which best describes the roots of the quadratic?
a. Real, rational, equal

c.  real, rational, unequal
b. No real roots  


d.  real, irrational, unequal

8. Given the equation x2  + 2x + 15, which best describes the roots of the quadratic?
a. Real, rational, equal

c.  real, rational, unequal
b. No real roots  


d.  real, irrational, unequal

9. Which equation has the same zeroes as f(x) = x2 + 5x – 36?

a. (x+3)(x+6) = 0



c.     (x+3)(x+2) = 0
b. (x+9)(x-4) = 0



d.    (x-9)(x+4) = 0   
10. Solve the equation using the quadratic formula:  3x2 – 7x + 3 = 0. (Round your answers to the nearest hundredth) 
11. Solve the quadratic equation: x2 – 3 = 4x.  (Write your answer in simplest radical form if necessary)
12. Solve the quadratic equation by completing the square.  Write your answer in radical form, if necessary.




x2 + 10x = 1
13. Solve the quadratic equation by factoring.

3x2 – 4x – 15 = 0
14. [image: image1.png]


A rectangular patio measuring 8 feet by 12 feet is to be increased to an area of 200 square feet.  If both the length and the width is increased by the same amount, what is the number of feet, to the nearest tenth, that the dimensions will be increased? 

Answer Key 

1) D 
2) A
3) A
4) C
5) D
6) C

7) A

8) B
9) B
10) x = 1.77, x = 0.57
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12) x = 
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13) x = 3, x = 
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14) Both the width and the length will be increased by 4.3 feet.

Work shown:  (x + 8)(x + 12) = 200



x2 + 20x + 96 = 200



x2 + 20x – 104 = 0
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